(CALENDAR)

& | ‘e
T4 o | 59 geg w0 O Udt fafy fawfan #81 foms o< feet off o & fareft f e v
1 -1 57 B, 97 919 S g,
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(i) fafiaa fET (0dd days): Tt fau gu sravet & R & o) e 1 goi-awel ) gen
¥ afes 7, arfafiam i seom €
(7)) vigad: yeEE a9y (At A ), W 4 ¥ faa Ty 8w 53 97 waal S 400
B quidan faved 71, wv o swearar €. T § fom < warsdl 400 © favea 7 €1, ot ad =51 8.
ECUIE
(i) a¥ 1620, 1860, 1940, 1984, 1996, 2004, 2008 31fg =+t Ty o¢ §.
(i) ¥ 400, 800, 1200, 1600, 2000, 2400 3nfg Tt Ta ¥ .
(iif) = 1726, 1982, 1800, 2100 &g oy ad =1 .
(i) 1 Tmumer a¥ = 365 fogm qen | w-ad = 366 fEA.
(iv) arfafiem fet st et =
I 1 e ad = 365 a7 = (52 9wmE) + (1 f&).
ard: | AR 9 A | srfafies f g &
1. 1@ ad =366 fT = (52 g=m®) + (2 f&).
o | ot ad § 2 orfaftem fa7 a0
. 100ad = 76 Frumo Y + 24 g a4
76 SAfaftam fa7 + (24 x 2) =fafe i
124 sfafEm fa = (17 3=mg + 5 fe)
5 arfafEa fe
100 99 & fafaa faq = 5.
200 719 % faftaa a7 = 10 ufq (1 79 3 f57) = 3 faA.
300 99 & a1fafam feq = 15 siwiq e vwme 1 fa7 ) =1 fam.
400 =¥ % HAfaftaa fa7 = (20 + 1) = 21 14fq 0.
800 =8, 1200 =4, 1600 ¥, 2000 a¥ anfg F =1fafam fg7 =0.
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15 3UTE 1947 &Y WA SIT WA GAT. T WWIE T hiA-41 fe an ?

(15 31T 1947) = (1946 6 + 1 T 1947 |/ 15 3T 1947).

1600 =8 # aifafta fg7 = 0.

300 78 o aifafea i =1.

46 98 = (11 9 ¥ + 35 o T4 ) = (22 + 35) Afde f&7 = 57 afe A = 1 afae A
o Hlo WH A W I JAE o

(31 +28 +31+30 +31 +30+31 +15)=227fa7=(7 x 32 +3) g7 =3 afae f&m.
Fal Afde A=(0+1+1+3)=5.

3 A e = YFar

. 81T 2012 T WETE & HrA-@1 fgT an ?
: 8719 2012 = (2011 ¥ + | S 2012 | 8 T 2012).

1600 74 & afaiea fs7 = 0.

400 =¥ F afuft fav'= 0.

11 98 = (2 & 99 + 9 Wlo TqH) = (4 + 9) Afdo &7 = 6 a1fdo f&A.
EEEIUNTEE RS

(31 + 29 +8)fea=68T=(7%9+5 T =5af f@.
Fasfafim T =(0+0+6+5fE=11fFF=4TA

Fa: it feT Jewafam ghm.

. 31 9% 2020 &t WETE &1 HiA-a1 fo g ?
: 3192 2020 = (2019 T + | ER} 2020 | 31 7E 2020).

1600 a8 7 arfafia g1 = 0.

400 =8 ¥ Afafea feg = 0.

1998 = (4 a8 + 15 Flo a¥) = (4 x 2 + 15 x 1) Ao f&7 = 23 AAfdo fm =2 a1fa0 .
T WA WY o WE '

(3l + 29 + 31+30+31)= 152167 =(7 % 21 + 5) fg7 = 5 &Afde fam.

Fa sfafm T =0 + 0+ 2+ 5)=7 = v 31fd0 .

37a: e T Meam g,

. fag =it o = 2006 var a6 2017 & FH0E TF FEE BT

i gea g 0 3 T8 fug F00 8 % | 59 2017 F1 9t feq agt € <t
1 ST 2006 .

Ho T 31 fagma 2005 99 31 fgwmw 2016 & e wfaftas fHf ot S = 2o,

T ST H 2008, 2012, 2016 &g 76 €.~

2006 | 2007 | 2008 | 2009 | 2010 | 2011 [ 2012 | 2013 | 2014 | 2015 | 2016

Afto A | 1 1 2 1 1 1 2 ! 1 i T

Fa Afde fEA=14=(7x2+0) =0.
37d: T8 2006 T4 2017 % HEUST TH TAH T,
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W 5. |r= 2011 ¥ fRn-fen fm dream ar?
T UES TH 1 9 2011 % 5 9w S
2000 =8t # srfafEm far = 0
109 = (2 offtg 7 + 8 |Wlo Fd) = (2 x 2 + 8 x 1) Afifo f&A.
= 12 #fdo fgm = 5 afao fem.

THE wad A

(31 +28 +1)= 60T = 4 31fd0 e

T Afafma feg = (0 + 5+ 4) =9 =2 afdo f&A.

J. 1T 2011 1 HUEER o

¥7q: 1 ¥rd, @ W, 15 A, 22 A 991 29 96 2011 Y WEER o

Frfafas w8 § udra ® St 3w = fargifina (V) A
1. xTaR a c e A pa famy fA dmi € 7

(@) 7% () 8x (c) W¥x (d) T ¥ Fr 7=
2. pHwE A g T %t forem R i €2

(@) {p+q)TeA (&) pg (c) (Ip+q)fm (d) (7g+p) T
3, TS 1 I 2 A 1946 I oA TE TG H HA-H 5T @17

() QHER (b) HTEAR (c) 99aR (d) IR
4. 26 A 1950 1 RGAY TR HiYq gan. 9 &7 gwe 1 w1 a7 |

(@) W (b) TTIEAR (c) Feeafaar (d) FHER
5. 19 SRR 2000 F1 H-41 feq =1 ?

(@) HTEER (b) JFHFER GREEL (d) FHaR
6. 1179 2012 F 9 F HE-91 57 o ?

(@) TFAR (p) wiEr O RREELS (d) HrrEn
7. & EtEl 2018 Y WEE & h-w1 T g ?

(@) YFAR (») AR (c) TaaR (d) Fewfaam
8. 29 W[ETE 1969 ! TwE FH H-W f&F a1 ?

ORGILEL (b) HTEER (c) guar (d) AR
9, @& 2007 ¥ g WmaR R fafa = a1 ?

(@) 1 o (b) 2o (c) 33 (d) 5o
10, 5 A 2007 F1 TR o1 5 57 2006 F HE-91 57 o0 ?

{a) TEaR () AR (¢) AR (d) FHaR
11. ¥ HeER . 3= ¥ 62 fa 9 sH-m feq gm 2

{a) THAR (b) TTAAR (¢) SHar (o) TEar

12. Frefafas § @ frg oaf 1 Sevst 90 1990 & Fver S 7 (THodtoTo THHET, 2004 )
(a) 1994 (b) 1996 (c) 1997 (d) 2000
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13. fyefafaa o @ feg od %1 $dver a9 2003 F FovsrFqM e ?
(a) 2009 (b) 2010 (c) 2012 (d) 2014
14. 5T 2012 F! GHaR 91, 5 F95K 2012 F HF-71 feq 2m ?
(¢) 9FER (b) AR (c) HATEER (@) F¥ER
FTACHTAT ( WFTHIAT 26A )

LB 2 3 4@ 5 @G 6.0 7@ 8 (b 9. (b 10. (b
L@ 12. (B) 13. (@) 14. (a)

xR HxfEA = A+ A= (T + ) TR =8x 53
L pEAR +gf@=(Tp+ T
. 16009 § tfaf fag =o.
300 94 & afafiga feq =1,
45 9 = (11 &9 79 + 34 Wo TH) = (22 + 34) Ffdo {57 = (56) fdo &7 = 0 a1fdo .
el = 2 A
Fd afdiE fed =0+ 1 +0+2) g7 =3 feq.
& e fe guem o
1600 =¥ & AfafEa fea =0,
300 ¥ & fafia faa = 1.
49 74 = (12 Ty 99 + 37 Wo TH) = (24 + 37) Ao f&F = 61 3fa0 fga
=g Hare 5 feq =5 sfe fam.
et & faftea fad = 5.
Fa AfafE fea=0+1+5+5=4.
&d: et o gewafaar .
. 1600 7% % #fdo fgA = 0.
300 4 & #Afdo feT = 1.
99 7Y = (24 &9 79 + 75 Wio TH) = (48 + 75) 3fdo f&7 = 123 Hfao &7 = 4 31fde fam.
o Wo HIE @ U SA [AB IR faamy sEE
31 +29 + 31+ 30+ 31 + 30+ 31 + 31 + 30 + 19 =293 &7 =6 afao f&.
FA Afdo &7 = (1 + 4 + 6) =l 4.
S e T = geEidEn
2000 74 ¥ Hfao fg7 =0
115 = (2 &9 a¥ + 9 Fo 7H) = (4 + 9) 3o &7 = 6 a1fd0 fEA.
A e A
(31 + 29 +11)="71 e 57 = 1 Hfae f&A.
Fd 3o fg = (0+ 6 + 1) =7 = 0 Ffdo fEA.
Lo e aar a
8T 2018 = (2017 T4 + | SFERT 2018 | 8 Taw=w 2018).
2000 =9 § faftsa fa7 = 0.
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1798 = (4 &9 99 + 13 "o aé) = (8 + 13) #fde fa7 = 0 a1fd0 fEA.
| Sad ¥ 8 T a9 feAl Y deEn
=(31+28+31+30+ 31+30+31+31+30+31+8)=312fA=43af0 f&.
For Aldo fgA=(0+0+4) =4,
Fvre for gEeafmar 7.
8. 16009 & atfdo f&m = 0.
300 74 % Ao fea = 1.
68 T8 = (17 ftu ad + 51 FWo ) = (34 + 51) Ao f&7 = 85 &1f0 fe7
=(7x 12+ 1) 3fde a7 = 1 afdo fem.
SHo Wle HNM A W YA ol
(31 + 28 + 31 + 30 + 31 + 30+ 29)=2103fFo &7 = (0 tfio f&7)
Fo A et MEem =0+ 1+1+0)=2.
ofa: Adte feq diear
9. 2000 =8 # arfafam g7 = 0.
6T = () T T + 5 WHle F) = (2 + 5) A f&gF = 0 arfto &=
SHA wEl W o W 5[ 9o
(31 + 28 +31+30+31+30 +1)=182 g7 =(7 x26) fe7 = 0 a1fd0 &=
1 9@ 2007 &1 F9ER gm.
37: 2 e 2007 ) IH 7S ol UG HIHGR ol
10. = 2006 TH WERY 79 2. 79F Afafiaw g7 = 1.
ar: anihe &7 5 5 2007 % feA 9 | fe7 w=et €
e fed = Wwar,
11. 98 1 g 57 7 fg7 9 s 2.
.. 63 &7 =R rerar g
37d: 62 fe7 s Hwam g
12. 31 femm=ir 1989 & g atfafiam f&Ai =+t @
EL 1990 | 1991 | 1992 | 1993 | 1994 | 1995
afdo fga 1 1 2 1 1 1 =7 fe1 = 0 afdo fem.

3 99 1996 ] HAUIL 98 1990 F FHE BT
13. 31 fem=w 2002 % =< afafea i = g

ad 2003 | 2004 (2005 | 2006 | 2007 | 2008 [ 2009 [2010 2011 [2012 2013
afqe fea 1 2 1 1 1 2 1 1 1 2 1
Fot Afdo feT = 14 fem = 0 #fao faA.

T4 2014 1 SHeIvsT 9 2003 ST B

14. W 1 ol fafar oy =it e 2im =@t fem 3@ & o v w0 3+t fafyr &6t 2. e andte
& dmar g
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fag Fifae o ot waed %1 s 7 TeeR, geeafaar orm wiEr 98 2 g

10 TEEd 2012 1 YR o1 10 BED 2011 F HiE-61 f57 a1 2
6 A 2009 T HIAGR &1, 6 TG 2008 T DiA-T a7 o1 ?
15 et 2012 ) TEER 91 15 el 2013 F $iE-91 faq gm ?
16 S[EE 1776 B F-w1 faq ar?

23 A% 1953 F1 FA-1 famq an?

8 3TE 1992 1 FA-T1 g7 9412

21 SFE 2005 ®Y WA fam w2

25 T 2016 1 wE-|1 fEA g ?

7 e

STRATEAT ( FTHIEAT 26B )
FgrEiaar 3. TEar 4. HTEER 5. HiEER
8

TR . AR 9. IR

6. A

100 o9 # srfafam fa = 5.

319: Yo vt & it fEA yEReR g

2009 H srfafaa fer = 1o fm =3 oA,

3T Ol YrEs) 1 i faT gurEw g

o A afafe fer =15 A =29wre 1 fe7 =1 fem.
IT: Far vt &1 1fan feq Seer g

400 99 § arfaftaa fea =0,

a7 <t vrar=a = g feq e g

e ¥ o forelt sl 1 aifeem o Tvere, Jeeataan o wiEr o 4+ 7 9 o

. =¥ 2011 T TuR 9 ¥, 305 wfafmm fea = 1.

37 10 HEd 2011 =1 59, 10 wad 2012 9 1 7 wvat L
a7 e faq = JewfmEn.

Ty 2008 T& oty ad ¥, o afafam fa =2,

3T 6 T 2008 F fe, 6 FHa 2009 € 2 f&7 o=@ g

37 6 WAl 2008 F AR 1.

ay 2012 T oy 9 ¥, 59 Afafem feq =2,

15 9= 2012 W WEAR A1, 37d: 15.5a) 2013 1 HIeER 2.
1600 6T & 3fdo faq = 0.

100 =8t & #Afqo faq = 5.

75 3 = (18 Y ¥ + 57 Hlo W) = (18 x 2 + 57) HAfdo fa7 = 93 HAfdo 7
= (7 x 13 + 2) #Afdo fe7 = 2 oo fA.
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e oA anfom

e We W Ia W A T:IaTﬁ
(Bl + 29 + 31 + 30 + 31 + 30 + 16)=198 & = (7 x 28 + 2) f&7 = 2 o0 .
FA A A R T =(0+5+2+2)=9=(7x 1 +2)=2 3o f&A.
S iR TR = HierEm,
1600 =t & ==fafEa fm = 0.
300 991 % Afafiaa 7 = 1.
52 9= (13 &9 39 + 39 Wlo T¥) = [(13 x 2) + 39] 1o &7 =65 A
= (7 x 9+ 2) #Afde &1 = 2 #fdo T,
o Wle WM A W WA YR AT _
(31 + 28 + 31+ 30 + 31 + 30+ 31 + 23) =235 f&A = (33 x 7+ 4) A = 4 &0 fem.
Fo afafem fefl R g = (0 + 1 + 2+ 4) =7 = 0 afd0 f&A.
S andte fgA = Ean,
1600 96t &F arfaftam fer = 0.
300 96t & srfaftam fer =1,
91 oY = (22 A9 T + 69 Wie Td) = [(22 x 2) + 69] Hfdo &7 = 113 atfd0 fem
=(7 % 16 + 1) 3o g7 = 1 a1fd0 fEm.

9qo T WHE A
(Bl + 29 + 31 + 8)=99fA=(14x7+ 1) fgA =1 Ffao .
Fa sfafem il R =0+ 1+ 1+ 1)=3.
AR CEi
1600 ot & arfafam fm = 0.
400 =t & srfaftem fg7 = 0.
49d = (1 g ad + 3 "o FH) = (2 + 3) 3fFo fg7 = 5 370 7.
TR - 21 T = (3 ww® + 0 f&7) = 0 atfo fm
Fel sffafem fefi Bt @@ =(0+0+5+0)=5.
S it o = gEEr.
1600 =t % ifafa fa7 = 0.
400 =4t ¥ afaftem A = 0.
I5ed=@amad+ 2@ ad) =3 x2+12 % 1) 310 fgm

= 18 Afdo &A= (7 % 2 + 4) = 4 afao fEm.
SHo =0 A
Bl + 29 + 25)=85f@A=(7x12+ 1) =1 310 f&m.
Fol i el M d@=(0+ 0+ 4 + 1) = 5.
L aihe f§F = gweR,
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